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Teacher Placement and CET Practice

74 responses
Publish analytics

1. Which of the following stage marks the involvement of children in their ‘L_D Copy
peer groups?

73 responses

{» Adulthood
£ Childhood

* Adolescence
& Early childwood

2. A young female teacher, believes in personalised learning because she ][_] Copy
thinks that

73 responses

@ leamers must learn on their own

@ students must enjoy their
learning

~ every person must be exposed
to learning

& every learner is unique and
must be given a chance to
develop to the best of his ability

/
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3. A teacher can identify a stressed child when the child shows the ]Q Copy
following behaviour.

73 responses

# Aggressive behaviour
€ Full concentration in studeis

v Excessive talking
/‘ @ Hyperactivity

4. 'Mind Mapping' refers to [Q Copy

73 responses

@ a technique to enhance
compreshension

€ a plan of action for an
adventure

 drawing the picture of a mind

i researching the function of the
mind

5. Identify the type of the following word problem: "I have 6 pencils. L[_] Cépv
Manish has two more than me. How many penils does Manish Have?

73 responses

# Comparison addition
@ Comparison subtraction
« Takeaway addition

£ Takeaway subtraction




6. Which of the following is most suitable for teaching children the L@ Cepy
concept of fractions?

73 responses

& Geoboards

& Number charts
© Cuisenaire rods
{* Abacus

7. Which of the following is not a dimension of assessment of [D Copy

mathematical learning?

73 responses

€ Communication
& Patterns and procedures

* Disposition towards
mathematics

@ Mathematical reasoning

8. Which of the following part of Geometry is taught in primary classes? [_D Copy
73 responses

& Formal Geometry
& Informal Geometry
* Both 1and 2

& Neither 1 nor 2




9. Which of the following is one of the three types of analysis of (_E_] Copy

pedagogy in education?

73 responses

@ Pedagogical analysis of beliefs

& Pedagogical analysis of the
subject

. Pedagogical analysis of
emotions :

@ None of the bove

10. Which of the following is a teacher-related factor affecting learning? l_g Copy

72 responses

@ Mastery over the subject matter

& Proper seating arrangement

©* Availability of teaching-learning
resources

@ None of the bove

11. Environmental studies is defined as the branch that deals with the: lg Copy

72 responses

@ Design, study, and discovery of
new materials.

@ The study of humanities, social,
biological, and physical
sciences.

“ Incorporate the information and
physical sciences.

& Approach about the natural
world and the impact of humans
on its integrity.

N



12. The functional aspects of the ecosystem are:

73 responses

¢! Energy cycles
& Nutrient cycles

* Food chains

& All of the above

13. Which one of the following is not direct use of forest products?

73 responses

4» Bamboo for baskets

@& Medicine

< Gums and resins
& Grass for grazing

14. Which day is celebrated as World Envifonment day?

73 responses

@ June 10th
@ June 5th

© - July 5th

& October 20th

A 2o

[_r___] Copyr

e
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15. A device which connects multimedia device like video camera.

72 responses

@ Serial port
@ Fire wire

£ Parallel port
® usB

16. Which of the following is used for Computer Aided Design LD Copy
Calculation?

72 responses

& Micro computers

€ Main frame computers
' Hybrid computers

€ None of the above

17. Which of the following is correct with respect to spread sheet? - l_[_:l Copy

72 responses

@ Work book is a document that
contains one or more work
sheet

@ Column is given in numbers
¢ Row is given in letters

@ Intersection of each row and
column is called table

T



18. Which of the following is not related to windows 7? IQ Copy

71 responses

&) 64 bits processor .
4» cloud compting
© multiple fire wall

& upgraded version of XP and
vista

19. The following is not the feature of internet [D Copy

73 responses

& E-Mail

& Newsgroup
~ Chat

4 Designing

20. Find the odd one out? LD Copy

71 responses

&» Mouse

& Keyboard

© Touch screen
& Printer




21. The formula to find out the literacy rate is [D Copy

73 respohses

@ (Total no. of illiterates / Total
population above 7 years of
age) x 100

@ (Total no. of literates / Total
population below 6 years of
age) x 100

. (Total no. of literates / Total
population above 7 years of a...

@ (Total no. of literates / Total
population above 6 years of a...

22. If CHARCOAL is coded as 4564913, how will you code COALCAR? L[;\ Copy
73 responses

@ 4913413
@ 6494314
4 6194416
@ 4913416

A e
&

23. The new pedagogical and curricular structure envisaged for ECCE in ID Copy
NEP-2020 is

73 responses

i Preparatory
@ Foundational

. Early childhood and care
education

@ Middle




24. What is the limit of offline digital payment per transaction, as per l_l_:_l Copy
RBI's recent notification?

73 responses

& Rs 100
€ Rs 200
© "Rs 500
@ Rs 1000

25. Whidh Indian movie won the Best Film award at Dhaka International l_[_] Copy
Film Festival?

73 responses

& Koozhangal

& Jai Bhim

* Marakkar : Lion of the Arabian
Sea

@ Sarda Udham

26. What is the theme of fhe 'World Heritage Day 20222 LD Copy

72 responses

¢ Heritage and Climate

@ Heritage and Covid

' Preserve Heritage

£ Teaching children about
Heritage




27. India recently signed MoUs on Nuclear Energy Partnership and Global ]Q Copy
Innovation Partnership, with which country?

73 responses

@ Germany
@ UK

. France
@ UAE

28. The book titled ‘Adventures of a Daredevil Democrat’, which was l_D Copy
recently published, narrates the story of which Former Chief-Minister?

73 responses

@ M Karunanidhi

@ Biju Patnaik

4 Jyoti Basu

@ C Achutan Menon

29. Who has the largest tenure of over as head of elected government in [D Copy
India (Including chief Minister as well as Prime Minister)

73 responses

@ Narendra Modi

& Manmohan Singh
“» PV Narasimha Rao
@ Indiara Gandhi




30. What was the rank of Bengaluru in the "JLL City Momentum: The

World's Top 20 Most Dynamic cities Report, 20719"?

72 responses

/B

@ First
&) Second
~ Third
4 Fourth

31. Who said this statement learning is the acquisition of habits,

knowledge and attitutes.

72 responses

& Murphy
@ Norman L Munn
* Crow and Crow
@ Skinner

32. Who propounded the theory of classical conditioning learning?

72 responses

& BF Skinner
£ Kohler

~ | P Pavlov
@ J B Watson

- L_D Copy

O copy

O cory



33. The two factor theory of intellegence was propounded by _____ [D Cepy
70 responses

@ L L Thurston
@ Guilford

(" Spearman
& Victoria

34. Which one fo the following is a Projective technique I_D Copy

71 responses

@ Observation
@ Inkblock test
" Evaluation
@ Interview

35. The term reinforcement was coined by ____ [_D Copy

73 responses

@ Skinner
@ Paviov
" Murphy
@ Vygotsky
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Feedback form on TET/CET classes 2022-24 Batch

1. CET/TET (2. CET/TET (3. It 4, 5. The 6. The 7. CET/TET |8. CET/TET
classes classes enhances |Preparatio |teacher teacheris |classes classes
helpful in |nurture problem |nfor takes able to really were
effective |essential [solving CET/TET |interestin [maintain |helpful for |conducted
time skills and |abilities instills the discipline |usin in
manageme|develops |among the [discipline [bettermen |in the class preparing [accordanc
Name of the UUCMS No./ |[nt. confidence [student- |and strong |t of the and has and e with the
SliNG Student Teacher Register No. infacing [teachers. |work weaker effective [clearing  |[syllabus.
competitiv ethicsin  |students. [communic [the
e student- ation skill. [CET/TET
examinati teachers. exams.
ons.
1 . UO1HY22E0062 Strongly  [Strongly  |Strongly  |Strongly  [Strongly Higtes Strongly o
agree agree agree agree agree agree
2 :IESNH;’:I)';RAYA UO1HY22E0013 (Agree itgrrzr;gly ztgl:zzgly Agree Agree Agree Agree Agree
; : Strongly
3 KAVANAT M UO1HY22E063 ([Neutral Agree Neutral Neutral Disagree [Disagree |Neutral -
4 TARADEVI M R UO1HY22E0072 |Agree Agree Agree Agree Agree Agree Agree Agree
5 Bhanu Priya § UO1HY22E0080 |Agree Agree Agree Agree Neutral Agree Agree Agree
6 |Ambaresh UO1HY22E0041 |Agree Agree Agree Agree Neutral Rienglysy [Sehgly Agree
agree agree
7 PallaviJ N UO1HY22E0043 |Agree Agree Agree Agree Agree Agree Agree Agree
8 Chandana M R UO1HY22E0012 |Agree Agree Agree Agree Agree Agree Agree Agree
9  |Suresh Ak UOO1HY22E0050 =Hiangly Agree RUEREN (SBEDElY Agree Neutral SRl Agree
agree agree agree agree
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30 |PRIYADARSHINIB C | UO1HY22E0087 |Agree Agree Agree Agree Agree Neutral Agree Agree
Strongl Strongl Strongl Strongl Strongl Strongl Strongl Strongl
31 |Vishal NT UO1HY22E0079 i - o B - . L -
agree agree agree agree agree agree agree agree
Strongl Strongl Strongl Strongl Strongl
32 |BEERAPPA UO1HY22E0034 |Agree el i BV lagree  |Agree - =
agree agree agree agree agree
St | St I Strongl Strongl Strongl Strongl
33 |AYYANNA UO1HY22E0058 |Agree IPHEY " [Reishy OB Maieres S & o
agree agree agree agree agree agree
Strongl Strongl
34 |PRAGATHIAS UOIHY22E0071 [Agree  |Agree  |Agree  |Agree  |Agree EY  |agree oy
agree agree
35 |BASAVARAJ UO1HY22E0026 |Agree Agree Agree Neutral Disagree |Agree Agree Agree
36 [Sumanth R UO1HY22E0059 |Agree Agree Agree Agree Neutral Agree Agree Neutral
37 |Swathi.s UO1HY22E0054 |Agree Agree Agree Neutral Agree Agree Agree Agree
Strongl Strongl Strongl
38 |Bheemanna kori UO1HY22E0031 |Agree Agree S Agree Agree P HORGY Agree
: agree agree agree
Strongly
39 |AMIT HULAKUND UO1HY22E0006 |Agree Agree Agree Agree Agree Agree i Agree
g
Strongl S
40 |Sushmitha B B UO1HY22E0020 |Agree Agree Agree Agree Agree g HeAghy Agree
agree agree
Stron t |
41 |Divyashree E UO1HY22E0060 |Agree Agree Agree Agree Agree rongly SHPREY Agree
agree agree
Strongly
42 [SHIVARAJ UO1HY22E0014 - Agree Agree Agree Agree Agree Agree Agree
Strongl |
43 |HARSHITHA H.L U01HY22£0039 [>T O"8Y  |agree Agree Agree SUSHENE (o i - —
agree agree agree
Strongly
44 |REKHAHI UO1HY22E0037 |Agree Agree Agree Agree Agree Agree Agree
- agree
45 |RASHMI H.I UO1HY22E0036 |Agree Agree Agree Agree Agree Agree Agree Agree
46 |SANGEETHADR UO1HY22E0082 |Agree Agree Neutral Agree Neutral Neutral Neutral Agree
47 |AMBUJAKSHI SR UO1HY22E0009 [Agree Agree Neutral Neutral Neutral Agree Agree Neutral
48 |MEGHARAJAH UO1HY22E0069 |Agree Agree Agree Agree Agree Agree Strongly Agree
agree
Strongly
49 |LOKESH UO1HY22E0015 |Agree Agree Agree Agree Agree Agree Agree

agree




oA R — UO1HY22E0027 Strongly  [Strongly |Strongly |Strongly  |Strongly -|Strongly |Strongly |Strongly
agree agree agree agree agree agree agree agree
Stro
a1 bipsdisin UO1HY22E0076 trongly |Strongly  [Strongly  [Strongly  [Strongly ~|Strongly [Strongly [Strongly
agree agree agree agree agree agree agree agree
Strongl
52 |DHANYASHREEK P | UO1HY22E0051 agreegy Agree  |Agree  |Agree  |Agree  |Agree  |Agree  |Agree
53 |POORNIMA UO1HY22E0038 Strongly  |Strongly  |Strongly Bellise . Strongly  |Strongly  |Strongly
agree agree agree agree lagree agree
Strongly  |Strongly Strongly  [Strongly
54 |VIDYAMV UO1HY22E0011 Agree Agree Agree Agree
agree. - agree agree agree
55 |AnushaP. N UO1HY22E0008 |Agree Agree Agree Agree Neutral Neutral Agree Agree
56 |MAMATHAY.n UO1HY22E0025 [Agree Neutral Agree Agree Neutral Neutral Agree Neutral
57 |[Gowthami KN UO1HY22E0067 |Agree Agree Neutral Agree Neutral Agree Agree Neutral
58 |Gowthami KN UO1HY22E0067 |Agree Agree Neutral Agree Neutral Agree Agree Neutral
Strongl
59 |SINCHANA A) UO1HY22E00S57 |Agree Neutral Neutral Neutral Agree Agree agr(:eegy Agree
Strongly Strongly i
60 |Yallappa UO1HY22E0048 Agree Neutral Agree Neutral Agree Disagree
agree agree
61 |LATHAHR UO1HY22E0003 |Agree Agree Agree Agree Agree Agree Agree Agree
62 |DivyashreeP G UO1HY22E0044 |Agree Agree Agree Agree Agree Agree Agree Agree
t { St I St { St |
63 [lambani Mallesha UO01hY22E0042 |Agree Agree Agree Agree SORCHEY ALY FRIIE el
agree agree agree agree
St | St I Strongl Strongl
64 |HEMLA NAIK K UOLHY22E0040 |Agree rongly  PUengl.  lngree Agree 8Y  |agree Bl
agree agree agree agree
HARIJANA Strongly Strongly
A A Agree Agree
65 PADMAVATHI UO1HY22E0030 At Agree Agree gree gree gre gre SErEE
Strongly .
66 |Suresh Ak UO1HY22E0050 |Agree Sirss Neutral Disagree |Agree Agree Agree Neutral
Strongl Strongl Strongl Strongl
67 |Archana SV UO1HY22E0002 |Agree LY By Agree Agree Bl Agree Bt
agree agree agree agree
Strongly
68 |Deepa upper UO1HY22E0077 |Agree Agree Agree Agree Agree Agree Agree -
69 |SHANTALA U UO1HY22E0019 |Agree Agree Agree Agree Agree Agree Agree Agree




DEEKSHA SAKPHAL

St I t
70 UO1HY22E0070 |Agree Agree Agree Agree Agree rongly ro—" Strongly
DR agree agree
St | Strongl
71 |VARSHITHA B UO1HY22E0074 [Agree  |Agree ONEY  |agree  |ngree  |Agree rongly |, ree
agree agree
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Feedback form on TET/CET classes 2022-
24 Batch

71 responses

Publish analytics

https://docs.google.com/forms/d/1 quhMRSjOCSReeerZthrdbeUhkNQNPXanNYzO?c/viewanalytics 1712



719124, 11:43 AM

Name of the Student Teacher

71 responses

Suresh Ak

Gowthami KN

Sridevi GP

AISHWARYA BENOORA

KAVANATM

TARADEVIM R

Bhanu Priya S

Ambaresh

PallaviJ N

Chandana M R

VINUTHA G A

KARTHIKD N

Sharanabasava

RAJINI M J

CHANNABASAPPA GUDADINNI

LAVANYAG S

VIJAYALAXMI BARKER R
' MeghanaBL

ManasaHC

Tejas Y P

Veena CM

https://docs.google.com/forms/d/1gpGhMR8j0CSReervQZt6jrdxbAUNKkNQNPXGnbNYz07 c/viewanalytics
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RAVI CHOWDKI
Mahalakshmi SM
Tejaswini SR
Bhoomika ms
Ramesh
LINGARAJ
Venkatesh
Shabreen Banu
YAMANOORAPPA
PRIYADARSHINIB C
Vishal NT
BEERAPPA
AYYANNA
PRAGATHIA S
BASAVARAJ
Sumanth R
Swathi.s
Bheemanna kori
AMIT HULAKUND
Sushmitha B B
Divyashree E
SHIVARAJ

HARSHITHA H.L
7

https://docs.google.com/forms/d/1 gpGhMREjOCSReervQZt6jrdxbAURKNQNPXGnbNYz07c/iviewanalytics 312
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REKHA H |
RASHMI H.1
SANGEETHA DR
AMBUJAKSHI SR
MEGHARAJA H
LOKESH
Karibasava k
Mahesha B
DHANYASHREE K P
POORNIMA
VIDYA MV
Anusha P.N
MAMATHAY. n
SINCHANA AJ
Yallappa
LATHAHR
Divyashree P G
lambani Mallesha
HEMLA NAIK K
HARIJANA PADMAVATHI
Archana SV
Deepa upper

SHANTALA U /

~

https://docs.google.com/forms/d/1qpGhMR8jOCSReervQZBjrdxbAUNKkNQNPXGnbNYz07c/viewanalytics 412
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DEEKSHA SAKPHAL DR

VARSHITHA B e
P\ A

PRINCIPAL
1.5.S. Institute of Education

P.B. 26, SAKALESHPUR-573 134
Hassan Dist
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Hassan Dist.
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UUCMS No. / Register No.

71 responses

UOTHY22E0022
UOTHY22E0067
UOTHY22E0062
U0THY22E0013
UOTHY22E063
U0THY22E0072
UOTHY22E0080
UOTHY22E0041
UOTHY22E0043
UOTHY22E0012
UOO0THY22E0050
UOTHY22E0017
UOTHY22E0068
UOTHY22E0028
UOTHY22E0083
UOTHY22E0052
UOTHY22E0035
UOTHY22E0066
UOTHY22E0005
UOTHY22E0055

UOTHY22E0023

https://docs.google.com/forms/d/1qpGhMR8jOCSReervQZt6jrdxbAUhKNQNPXGnbNYz07 c/viewanalytics 6/12
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UOTHY22E0064
UOTHY22E0084
UOTHY22E0056
UOTHY22E0081
UOTHY22E0078
UOTHY22E0046
UOTHY22E0061
UOTHY22E0045
UOTHY22E0087
UOTHY22E0079
UOTHY22E0034
- UOTHY22E0058
UOTHY22E0071
UOTHY22E0026
UOTHY22E0059
UOTHY22E0054
UOTHY22E0031
UOTHY22E0006
UOTHY22E0020
UOTHY22E0060
UOTHY22E0014
UOTHY22E0039

UOTHY22E0037
4

https://docs.google.com/forms/d/1qpGhMR8jOCSReervQZt6jrdxbAUNkNQNPXGnbNYz07c/viewanalytics 712
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UOTHY22E0036
UDTHY22E0082
UOTHY22E0009
U0THY22E0069
UOTHY22E0015
UOTHY22E0027
UOTHY22E0076
UOTHY22E0051

UOTHY22E0038
UOTHY22E0011

UOTHY22E0008
UOTHY22E0025
UOTHY22E0057
UOTHY22EQ0048
UOTHY22E0003
UQ1HY22EOO44
U01hY22E0042

UOTHY22E0040
UOTHY22E0030

UOTHY22E0050

155, o FRRNCIRAL
-3:3. Institute of Education
P.B. 26, SAKALESHPUR-573 134

Hassan
UOTHY22E0019 Dist y,

UOTHY22E0002

UOTHY22E0077

https://docs.google.com/forms/d/1qpGhMR8j0CSReervQZt6jrdxbAUNKNQNPXGnbNYz07c/viewanalytics 8/12
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UOTHY22E0070

UOTHY22E0074

IO copy

1. CET/TET classes helpful in effective time management.

71 responses

@ Strongly agree
@ Agree

© Neutral

@ Disagree

@ Strongly disagree

2. CET/TET classes nurture essential skills and develops confidence in O copy
facing competitive examinations.

71 responses

€ Strongly agree
@ Agree

" Neutral

€ Disagree

@ Strongly disagree

20.8%

| LD C§§y

3. It enhances problem solving abilities among the student-teachers.

71 responses

€ Strongly agree
© Agree

© Neutral

@ Disagree

@ Strongly disagree

https://docs.google.com/forms/d/1gpGhMR8j0CSReervQZtsjrdxbAURKNQN PXGnbNYz07c¢/viewanalytics
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4. Preparation for CET/TET instills discipline and strong work ethics in @ Copy
student-teachers.

771 responses

@ Strongly agree
@ Agree

" Neutral

@ Disagree

@ Strongly disagree

L[;] -~ .

5. The teacher takes interest in the betterment of the weaker students.

71 responses

@ Strongly agree
@ Agree

" Neutral

@ Disagree

@ Strongly disagree

o

6. The teacher is able to maintain discipline in the class and has
effective communication skill.

71 responses

@ Strongly agree
& Agree

0 Neutral

@ Disagree

@ Strongly disagree

https://docs.google.com/forms/d/1gpGhMRBjOCSReervQZt6jrdxbAUNKNQNPXGnbNYz07c/viewanalytics 10/12
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7. CET/TET classes really helpful for us in preparing and clearing the - I8 copy
CET/TET exams.

71 responses

€ Strongly agree
@ Agree

© Neutral

@ Disagree

@ Strongly disagree

8. CET/TET classes were conducted in accordance with the syllabus. I_D Copy

71 responses

@ Strongly agree
© Agree

" Neutral

& Disagree

@ Strongly disagree
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Sakleshpur-573134, PB No 26, Hassan Dist.
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Phone No: 9740591647

ANALYSIS REPORT ON FEED BACK FORM ON CET/TET
_LASSES 2022-24 BATCH

The present feedback form is to assess CET/TET classes. The items been

designed to get the feedback on CET/TET classes.

There were 8 items in the feedback forms followed by 5 point scale. Each
student-teacher should carefully read the items and mark out the suitable

response.

From the above data, it is concluded, there were 85 students out of which,
71 student-teachers of 2022-24 batch responded. Among them 76.1% of the
response were strongly agreed and 21.1% of the responses were agreed. In total
97.2% the responses revealed that CET/TET helpful in effective time

management. (Graphl)

Among them 71.8% of the responses were strongly agreed and 25.4% of
the responses were agreed. In total 97.2% the responses revealed that CET/TET
classes nurture essential skill and develop confidence in facing competitive

“exams. (Graph 2)

Among them 64.8% of the responses were strongly agreed and 23.9% of
the responses were agreed. In total 88.7% the responses revealed that CET/TET

classes enhances problem solving abilities among the student teachers, (Graph 3)

Axﬁong them 78.9% of the responses were strongly agreed and 11.3% of
the responses were agreed. In total 90.2% the responses revealed that, preparation

for CET/TET instills discipline and strong work ethics in student-teachers.
(Graph4)

Among them 66.2% of the response were strongly agreed and 14.1% of
the responses were agreed, In total 80.3% of the responses revealed that, the

teacher takes interest the betterment of the weaker students. (Graph 5)
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Among them 62% of the responses were strongly agreed and 28.2% of the -
responses were agreed. In total 90.3% of the responses reveal that, the teacher is

able to maintain discipline in the class and has effective communication. (Graph

6)

Among them 56.3% of the responses were strongly agreed and 39.4%
responses were agreed. In total 95.7% of the responses reveal that, CET/TET
classes really helpful for them in preparing and clearing CET/TET exams. (Graph

7)

Among them, 57.7% responses were strongly agreed and 31% responses
were agreed. In total 88.7% of the responses revealed that, CET/TET classes were

conducted in accordance with the syllabus. (Graph 8)

It is concluded that, these classes were very much helpful because the
teacher’s trainees are from rural background and backward areas, lack in mental
ability, reasoning ability and psychology related aspects. Hence from the above

results students are getting benefited from these classes.
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TEACHER PLACEMENT COMMON ENTRANCE TEST - OMR ANSWER SHEET'
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1. This sheet should not be folded or crushed :
2. Use only blue/ black ball point pen to fill the circles. ;
3. Use of pencil is strictly prohibited. ;
4. Circles should be darkened completely and properly. i
3. Culting and erasing on this sheet is not allowed. i
6. Do not use any stray marks on the sheet. i
7. Do not use marker or white fluid to hide the mark. 1
1

1
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PART - IV
MATHEMATICS

46. Which of the following is not a quadratic Equation?
1) (x-2)?+1=2n-3 3) x(x=1) + 8 = (x+2) (x-2)
2)x(2n+3)= x2+1 4) (x+2’=x>-4



20. Two words have identical sound and spelling, but not
related in meaning it is known as..............
1. polysemy 2. homophone 3. homonymy 4. Homograph
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1 PART-1I
ENGLISH LANGUAGE

Read the following passage and choose the most appropriate answer to the question:

To someone who had only a paper knowledge of India. It might seem that India women were the best off in the
world. We have the vote, we have the right of abortion, and we have practically everything else in between. The
Special Marriage contract possible to imagine. In actual fact, only a fraction of the women get the advantage of
its liberal provisions, prominent among the exceptions being Muslim women. Perhaps, some day, the live facts to
a woman'’s position will catch up with the paper position.

Meanwhile many women’s organizations are hinting that the Government ought to think of giving us women a
special gift, which is equal pay for equal work. But we want the Government to give us another present, which
will reach every single woman in the country. We want an era of easy house-keeping.

11. One ean conclude from the passage that
1. Indian women are better off in the world.
2. A lot of privileges on paper have not been translated into reality.
3. Indian women do not know how to enjoy benefits.
4. Indian women have no access to their privileges.

12. From the information given in the passage, one can say that.
1. The special Marriages Act has benefited only Hindu women.
2. Women have a long way to go, as far as privileges are concerned.
3. Muslim women, by far, have benefited the least from the Privileges.
4. The Special Marriages Act requires modifications.

13. Equal pay for equal work Means
1. Payment on par with men 2. Same amount of work as men
3. All women to be paid equally 4. All women to be allotted the same kind of work that men do.

14. The writer feels that an era of easy housekeeping would reach every woman because
1. Working women do not work at home
2. Tt would specially help Muslim women
3. It would help women not to marry
4. No woman is usually exempted from housekeeping.

15. The writer’s intention in this passage seems to be to.
1. Sympathise with the plight of women
2. Show the injustice meted out to Muslim women
3. Show which privilege would really ease women'’s lives
4. Present arguments for equal payment for women.

Directions: Answer the following questions (Q. Nos. 16 to 20) by selecting the correct/most appropriate
options.

16. Positive interference is a kind of ................
1. Native language 2. Target language
3. Foreign language 4. Pictorial language
17. In learning the new language, multilingualism is.............
1. a burden 2. amethodology
3. an asset 4. an interference
18. Note taking is done............
1. while writing an essay 2. during a lecture
3. while reading a review 4. during extensive reference work
19. The method of teaching foreign language without using the Pupil’s first language is.............
1. Old method 2. Direct method

3. Classical method 4. Grammar-translation method
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JSS INSTITUTE OF EDUCATION, SAKALESHPUR

TEACHER PLACEMENT COMMON ENTRANCE TEST
Time- 1 hrs 30 Minutes 19" MAY- 2023 Max Marks — 60

Instruction:-
I All the 80 questions are compulsory and carry equal marks.
2. Refore opening the hooklet, 1ake the OMR sheet kept inside the question paper carefully and write your name, UUCMS No and
signature in the place provided in the OMR.
3. Fach question is followed by four answers, of which only one is complete and mosi correct. Please mark the answer which you
Jeel is most correct and complete by fully darkening the oval of that answer in the OMR Sheet.
4. Sogochead. Best of luck.
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47. Out of 25 Students participating in a debate 8 are girls. The probability that the winner is a boy is
1)17/25 2) 17/33 3) 8/25 4) 8/33

48. The number of lines of symmetry in a square is
N4 2)3 32 4) Infinite

49. The LCM of the least positive prime number and the least positive composite number is
14 2)3 3)2 4)1

50. An athletic won § events out of a number events. If the win percentage was 40, the number of events in
total is

1)10 2)15 3)20 4)5
PART -V
SCIENCE
< R ST G Should be present in the water for metamorphosis of tadpoles.
1) Chlorine 2) Carbon 3) Sculpture 4) Todine

52. Is listen to the sound of lightening 10 sec. after observing its how far are we from the place where

lightening occurs? (Sound speed =330 mils)
1) 825m 2) 1650m 3) 3300m 4) 330m

53. Which of the following is a greenhouse gas.
1) Nitrogen 2) Oxygen 3) Chlorine 4. Water Vapors

54. Polycot is obtained by Mixing.
1) Nylon and wool 2) Polyester and wool
3) Nylon and Cotton 4) Polyester and cotton.

B8 oo si o is meant for conservation of biodiversity in their naturil habitat.
1) Wild wit sanctuaries ~ 2) Zoological garden
3) Botanical garden 4) Dams
PART - VI

INFORMATION AND COMMUNICATION

56. ICT refers to all the methods, tools, concepts related to
1) Storing digital information 2) recording digital information
3) Sending digital information 4) All of the above

57. Which of the following is/are examples of software?
1) MS Word 2) MS Excel 3) Open Office Calc 4) All of the above

58. Which of the following are mobile operating system?
1) Apple iOS 2) Android 3) Both of the above 4. None of the above

59. We need to protect our computer from
1) Air 2) Dust
3) Both of the above 4) None of the above

60. Unwanted mails arecalled __ "
1) A-SPAM 2) SPAM 3) SPAM 4) N-SPAM
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JSS INSTITUTE OF EDUCATION

Kowdalli, Sakleshpur Tq, Hassan Dist
SUBJECT : Mock CET March-2019

STUDENT ANSWER SHEET WITH QUESTION PAPER

Student Name N AlN £ E, w2

b

STUDENT REGISTER NO : ED182735 TOTAL MARKS: 60

Time : 75 Minutes

(Mental Ability, General English, Educational Psychology, General
Knowledge and Computer Education)

L @De “|16) @O (31| 00 |4| O8O -
2| Qe@ |17 80 .32 PO |47 @EEE
3 @O0 13 QRO (3] CEO® |48 GO0
4 Q@D |19 Q080 (34| C@0Q |49 C000)
5 @@ |20 800@ (35| @O0 |50 00, C
6 Q@@ |21 @0®9 |36 @@@@ 151 QRO -
7 @ROQ |22) GEOP (37| OO -|52| GEEE
3 Qe 23| OO (33| @00 (53| @G
)| QOBE .|| COeD (¥ EEeE -|%| eCeee
0| O8O -3 GEOB |9 86E@ |3| CEeE
1] 80D 26| @BOE.|4| OO || EECE
2| @U@ 27| OBOQ. |2 OO0 . |57 CEE®
3] @Q0e@ (28] OO . 4| 8OO |58 AOOO -
4 @ERO® (29| 200 | s Q@O |59 @O
| 19 8@ 30| @O 4] RO 60| @EOE -

Total Marks Obtained: 25/ Reduced to 10: T
‘ /}Labbw H{?
Invigilator Slonatu \&( Candidate Signature

/u[;



L. P

.
e

GENERAL KNOWLEDGE

I. The 2014 Hockey World Cup
tournament was held in

- (1) "London
(2) Australia
(3) India
(4) The Hague

2. National Pension Scheme (NPS) was
introduced by Government of India
in
(1) 2006
(2) 2010
(3) 2009
(4) 2004

3. The recipient of 2009 Nobel Peace
Award is
. (1) Barak Obama
(2) Wangeri Mathaai
(3) Kailash Satyarthi
(4) Shirin Ebadi

4. The most irrigated state in India is
(1) Bihar
(2) Punjab
(3)  Andhra Pradesh
(4) Uttar Pradesh

S.  One of the following youngest
persons is elected as MP in 2014
general body Lok Sabha election

(1)  Pratap Simha
(2) Heena Gavit
(3) Sachin Pilot

\ (4) Priyanka Gandhi
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Under the Article 4331, how many
members of the Anglo-Indian
_.community can be nominated in Lok
' Sabha by the President ?

(1)
)
®)
4)

—_ N bk W

One of the following gasses is used
for refrigeration :

(1) Chlorine

(2) Sulphur dioxide

(3) Phosphine

(4) Ammonia

If the President wants to rcsigﬁ, he
should addfess his resignation lettef
to the

(1) Parliament

(2) Primé Minister

(3) Chief Justice of India

(4)  Vice President :

One of the following Articles of
Indian Constitution says, ‘No child
below the age of fourteen years shall
be employed to work in any factory
or mine or engaged in any other
hazardous employment” :

(1) Article45

(2) Article 330

(3) - Article 24

(4) Article 368
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10.

Gerontology is the study of

(1) Process of ageing

(2)  Growth of the cells
(3) Birds -

(4)  Vegetables

Helium is used for respiration in

deep water instead of nitrogen

because
(1) itis heavier than nitrogen.

(2) itis lighter than nitrogen.

(3) 1t mixes less in blood than

nitrogen.

(4) it helps oxygen burn more

quickly.

The  personality who is  not

connected with 1857 mutiny

(1) Bhagat Singh

(2)  Lakshmi Bai

(3) Tantia Tope

(4)  Nana Sahib
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The chemical symbol of the element
“Tungsten” is

y T
(2) Sn
3y W
4) Tn

The hormone  which’
excretion of water from kidneys is

" (1) Prolactin

(2) Vasopressin
(3)  Oxytocin
(4) Adrenalin

© “The World human rights day”

celebrating on
(1) December 10™

" (2) December23®

(3) June21™
(4) October 10"

The Tata Institute of Fundvamental
Research (TIFR) is located in
¢)) Benggluﬁi

(2) Delhi

(3) Mumbai

(4) Kolkata

The asteroid belt of solar system
present between the planets of

(1) Earth and Mars
(2). Mars and Jupiter
(3) Jupiter and Saturn
(4) Earth and Venus
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EDUCATIONAL PSYCHOLOGY

In  Pavlov’s  experiment  on

conditioned dog, ringing of bell

without food leads to
(1) extinction

(2) frustration

(3) shaping

(4) reinforcement

The correct statement on skills

leaming is

(1) Takes long time to learn and

less time to forget.

(2) Takes less time to learn and

long time to forget.

(3) Takes long time to learn and

long time to forget.

(4) Takes less time to learn and

less time to forget:
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. C. Learning

The best leader is one who

(1) draws more members to group.

(2) induces all members to make
their best contribution.

(3) leads the group with his own

decision.

(4) is physically strong.

The 1Q of a five year old girl is 120.

What is her mental age ?

(1) 6 years
(2) 8 years
(3) 4 years
“). 5 'ycars

Match the following :

A.Language i. Insight learning
learning

B. Elephant

standing on

ii. Classical
conditioning

. oneleg

drawing learning
iv. Operant
conditioning
-Codes:
A B C

(1y. i iv il
(2 i i iii |

@) i v i

4y i i iv

iit. Trial and Error
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A child is using small wooden piece
as bus and playing. The child is in
which of the following stages of
cognitive development ?

(1) Sensory motor stage

(2) Pre-operational stage

(3)  Concrete-operations stage ,

(4)  Formal-operations stage

In Normal Probability Curve (NPC)
related to distribution of intelligence,
gifted children are located at

(1)  the peak of NPC .

(2)  both the edges of NPC

(3) oneedge of NPC

(4) the centre of NPC

Which of the following statement

related to intelligence is correct ?

(1) All intelligents ére creative.

(2) All intelligent students - face
adjustment problem.

(3) Intelligence is determined by

environment.

(4) Intelligence is the ability to

adjust to new environment.
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Which of the following test helps in .

determining the chances of success

_in a given profession ?

(1) TAT.
(2) DAT
(3) CAT
(4) 16PF

Vicarious reinforcement i$ -the

contribution of

(1) Operant conditioning theary
(2) Classical conditioning theory
(3) Social learning theory

(4) Perceptual leaning theory

Which of the following is the most
subjective method of understanding
behaviour ? |

(N QBsewation

(2) Introspection

s

.(3) Case Study

(4) Experimentation

The following are the stages of

creativity, except

(D Preparation

(2) Assimilation

(3) Incubation

4) Tllumination

A3).
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GENERAL ENGLISH

She hardly studies for the CET
exams. The correct question tag is

(1 Docs she ?
(2) Doesn’t she ?

(3) Didshe?

(4) Didn’tshe?

I can write a book grammar.

The correct preposition to be filled

in
(1) on

(2) about -
(3) of

(4) %

Identify the part that has a mistake.

The opinion that / happiness or
A

suffering / depend upon ) ourselves

B

is not always true.

D
(1) A
@) B
3) C
@ D

fo
@,

1. Innovation is work

A.  there are people who clearly
more talented innovators than

the rest of us
it requires knowledge
it also requires great ingenuity

but that alone is not enough

> 0N w

and this is because they are
able to imagine and conceive
what we do not even consider
possible.

Arrange A, B, C, D to form a logical
sequence. 1 and 6 are starting and
ending sentences respectively.

(1) ABCD

(2) BDCA
(3) CDBA
(4) DBCA -
He always stammers in public

~ meetings, but his today’s speech .....

: Choose the correct alternative.

. (1) was fairly audible to everyone

‘present in the hall.
(2)  was not received satisfactorily.
(3) could not be understood
proberly.

(4) was free from the defect.
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The word “furious’ js an example of
(1) C.‘oniposition

(%), + Derivation

(3) Onomatopoeia

(4) Back-formation

The synonyﬁ of ‘Chivalrous’ is
(1) - Gallant | '
(2) Impetuous

(3) Brave

(4)  Improverished

The correctly spelt word is
(1) Ciggaret

(2) Cigarate~

(3) Cigarette

(4) Cigarete

" Choose the correct sentence.

(1) They finished the work of a
day. |

(2) She goes to the temple of
Durga.

(3) Weareinclined for hard work.

@) Service is  requisite for

happiness.

2%

A4

‘Teetotaler’ means one who abstains

from
(1) thett
(2) meat

(3) taking wine

(4) taking tea

His winning the talent hunt show

was not a flash in the pan. The

underlined idiomatic expression can

be replaced by

(1) just a one-off display of

brilliance.
(2) anoticeable achievement.

(3) something that could be

ignored.

(4) indicative of his ability.

Fatuous person can also be called

(1) sagacious

(2) perceptive
(3) intelligent

(4) stupid

o Paper-1
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- COMPUTER LITERACY
Computer Fundamentals Objective Questions for High School Teachers

The furst digital computer built with
IC chips was known as

(1) [BM 7090

(2y Apple-l

(3) 1BM System/360
(4) VAX-10

In which language is source program

written ?

(1) English
(2) Symbolic”
(3) Highlevel
(4) Temporary

‘Which is considered a direct entry

input device ?

(1) Optical Scanner

(2) Mouse and digitizer
(3) Lightpen |

(4) All of the above

When were the first.minicomputer
built ?

(1) 1965
2) 1962
() 197

(4) 1966
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The ‘computer code for the

interchange of information between

terminals is
(H ASCl
(2) BéD'
(3) EBCDIC

(4) All of the above

The latest version of Nudi software
(1) 5.1

2) 5.0

(3) 5.5

(4) 53

Which is used for manufacturing

chips ?

(13 * Bus

(2) * Control Unit
(3) Semiconductors

(4) (1)and (2)only -

4

BT  IDAS RotTeieons?

SRWIMA  ToFAKITT  RABRDS

zoges
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(4) O e
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A computer program that converts
an entire program into machine

language is called
(I)( Interpreter
(2) Simulator
(3) Compiler

(4) Commander

A computer program that translates
one program instructions at a time

into machine language is known as
(1) Interpreter

(2) CPU

(3) ~ Compiler

(4) Simulator

Personnel who design, program,

operate and maintain computer

equipment refers to
(1) ' Console-operator
(2) Programmer
(3) People ware

(4) System Analyst

4 Paper-1

4_“»/\ BB FO[ALITT BRLTRET AW

MY, 008, LRENPT SOBSED-
YTy, Sertord TSSO

(1) @oBTISRT’
() asndeso?
(3) woFBpo®

4) ISR

BoFRUTE BpLMeS RAWINITH
oo, RN 2,000 [T talal
SOHBERES BEHAQODY, Beriord
3B oI0TTY

(1) RoBTEREITT
(2) 2203
(3) =oZpot

(4)  asndesTt

DA, [PEMO,  ToOPETIOT,
W  omppot  RUTTBNY
AT BRBoDR, FRRWTIEH

(1) TlReer® um3eedo®

(2) SperegHot -
(3) &zt Jeot

@) 2mo omORT,



=

Find tlﬁe-wrong number in thé.series :
5,27, 61; 122, 213, 340, 509

(1 122

() 27

(3) 6l

4) 509

The least number which subtracted

from both the terms of the fraction

7> will give a ratio equal to 15% is
(1) 26
(2) 2.8
(3) 32
@ 22

Everybody in a function shakes hand

with everybody else. If the total
number of hand shakes is 66, then
the number of persons in the
function is |

(1) 45

@ 15 7

(3) 10

@ 12

A father is now 3 times as old as his
son. Five years ago, he was 4 times
as old as his son. The present age of

_ thesonis

(1), . 12 years .
@y 15 years

(3) 18 years

(4). 20 years
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Directions : Answer the question nos. 85

and " based on the following information :

Branches ot 5 Banks A. B.C.D and E are

as follows :

* A.Band C are in Indore and Bhopal.

* A, Band E are in Indore and Gwalior,
- Cand D are in Raipur and Bhopal.

- Eand D are in Gwalior and Jabalpur.

* C. Eand D are in Raipur and Jabalpur.

57 Branch of which Bank is not in Indore
(1 B
{2) C
(3) B
(4y D.
6_&0’) Branch of which Bank'.is in Raipur
: and Indore but not in Bhopal 2.
(I D
(2) ‘A
(3) E.
4) C
E—C}’ ) C_hf_)ose ‘thc numb'er which . is
different from others in the group ?
() 7st ,
() 734 )
.. (3) 853 ‘
o 4) 53 \ .
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A B, C, D. 3% E Q0w 5 s
Z&Ineh B8 F9AT033.

* ALB @R C 2REFTT Zoadneh
' faociraecﬁabs_g Ree IO,
* A B o3 E L30TT ToadTTed
ROTRCTY THH MOoDTIBO.

* BC @y D LR0FT  Zoaimeh
ToODHT 203 tlecmoerf s,

* A E &3 D LR0F°T Zoadres
MOCHT? 0P HL HTFOI,

* CE &% D LR0FT Zoadried
TOODHT 08y 2 FHTIO.

5&7 aod\raeofa@gd tR05°s  zosd .

o3EHH ?
(1 E &
3 ¢

3 B -

(4- D .

58 covms e @odeectHdms
808 PdeimetEdus 23,035
283 oIH ?
(Iy D
) A
3y E
4 C
S‘lﬁ‘ E?Jaéada‘af R0y ooz RElel
| moalbnos  Oymn  mos)
Brouy Bodb, SRE WAL,
(h 751 Ay
) 734 7
(3) 83 !¢
(4 532 %

- “-‘;" % % Paper-1



Four girls are sitting on a bench to
be photographed. Shikha is to the
left of Reena, Manju is on the right
of Reena. Rita is between Reena and
Manju. Who would be second from
the left in the photograph ?

(1) Reena

'(2) Shikha

(3) Manju

(4) Rita
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Teacher Placement and CET Practice

JSS Institute of Education, Sakaleshpura conducted MOCK CET Test on 3rd June 2022 under
IQAC.

1. 1. Which of the following stage marks the involvement of children in their peer ¢ points
groups?

Mark only one oval.
" Adulthood
C:‘ Adolescence

") Early childwood

2. 2. Ayoung female teacher, believes in personalised learning because she 0 points
thinks that

Mark only one oval.

TN i

«_/ learners must learn on their own
P ; : :
(____~ students must enjoy their learning

!/—‘\_ .
./ every person must be exposed to learning

G

(___ every learner is unique and must be given a chance to develop to the best of his
ability



3. 3. Ateacher can identify a stressed child when the child shows the following

0 points
behaviour.

Mark only one oval.

{___J Aggressive behaviour

( } Full concentration in studeis
77 N\ 3 +

(___J Excessive talking

) Hyperactivity

4. 4.'Mind Mapping' refers to 0 points

Mark only one oval.

{___~ atechnique to enhance compreshension
{___J aplan of action for an adventure
’:__J\ drawing the picture of a mind

{___J researching the function of the mind

5. 5. ldentify the type of the following word problem: "I have 6 pencils. Manish

0 points
has two more than me. How many penils does Manish Have?

Mark only one oval.

(__J Comparison addition
{___ Comparison subtraction
{___J Takeaway addition

{___) Takeaway subtraction



6. 6. Which of the following is most suitable for teaching children the concept of o points
fractions?

Mark only one oval.

> i
«__ Geoboards

P

{__ Number charts

__) Abacus

7. 7. Which of the following is not a dimension of assessment of mathematical 0 points
learning?

Mark only one oval.

Communication

() Patterns and procedures
O Disposition towards mathematics

e ™~ . Y
-~ Mathematical reasoning

8. 8. Which of the following part of Geometry is taught in primary classes? 0 points

Mark only one oval.

(__ Formal Geometry

p

(__ Informal Geometry

Y Gl

«__ Both1and2

) Neither 1 nor 2



9. 9. Which of the following is one of the three types of analysis of pedagogy in 0 points
education?

Mark only one oval.

{___J Pedagogical analysis of beliefs
) Pedagogical analysis of the subject
C__j Pedagogical analysis of emotions

F
{__ None of the bove

10. 10. Which of the following is a teacher-related factor affecting learning? 0 points

Mark only one oval.

{___J Mastery over the subject matter

. Proper seating arrangement
N T 2 .
{__ Availability of teaching-learning resources

FHEE
{___J None of the bove

11. 11. Environmental studies is defined as the branch that deals with the: 0 points
Mark only one oval.

{___) Design, study, and discovery of new materials.
{__) The study of humanities, social, biological, and physical sciences.
)

{___) Incorporate the information and physical sciences.

{__) Approach about the natural world and the impact of humans on its integrity.



12.  12. The functional aspects of the ecosystem are:

Mark only one oval.

e
.. Energy cycles
T Nutrient cycles

Food chains

) All of the above

13.  13. Which one of the following is not direct use of forest products?

Mark only one oval.

_ Bamboo for baskets

Sl

:,l Medicine

p

) Gums and resins

.....

__ Grass for grazing

14.  14. Which day is celebrated as World Environment day?
Mark only one oval.

{___JJune 10th
:,, June 5th
7 July'sth
) October 20th

0 points

0 points



15. 15. A device which connects multimedia device like video camera. 0 points

Mark only one oval.

7N 2

( ) Serial port
- I

) Fire wire

(__ Parallel port

D uss

16. 16. Which of the following is used for Computer Aided Design Calculation? ¢ points

Mark only one oval.

__ Micro computers
{___J) Main frame computers
(___J) Hybrid computers

\:\ None of the above

17. 17. Which of the following is correct with respect to spread sheet? 0 points

Mark only one oval.

{ ) Work book is a document that contains one or more work sheet

‘/_ﬁ\‘ a . &
{___J Column is given in numbers

7T = = “
{__ Row is given in letters

TN - .
. i Intersection of each row and column is called table



18.

19.

20.

18. Which of the following is not related to windows 7?2

Mark only one oval.

() 64 bits processor

D cloud compting

. multiple fire wall

(___ upgraded version of XP and vista

19. The following is not the feature of internet

Mark only one oval.

) E-Mail
(__ Newsgroup

(__ Designing

20. Find the odd one out?

Mark only one oval.

(__) Mouse
{__ Keyboard

(___ Touch screen

P \ L,
. Printer

0 points

0 points

0 points



21.  21. The formula to find out the literacy rate is
Mark only one oval.

) (Total no. of illiterates / Total population above 7 years of age) x 100

(__J (Total no. of literates / Total population below 6 years of age) x 100

C—_—? (Total no. of literates / Total population above 7 years of age) x 100

O (Total no. of literates / Total population above 6 years of age) x 100

22. 22.1f CHARCOAL is coded as 4564913, how will you code COALCAR?
Mark only one oval.

4913413
() 6494314

P
/ \

) 6194416

\
p SRR

() 4913416

23. 23. The new pedagogical and curricular structure envisaged for ECCE in
NEP-2020 is

Mark only one oval.

() Preparatory
{___ Foundational
{__ Early childhood and care education

C ) Middle

0 points

0 points

C points



24, 24 What is the limit of offline digital payment per transaction, as per RBI's 0 points
recent notification?

Mark only one oval.

....

25. 25. Which Indian movie won the Best Film award at Dhaka International Film ¢ points
Festival?

Mark only one oval.

) Koozhangal
(___ Jai Bhim
/ Marakkar : Lion of the Arabian Sea

(" sarda Udham

26. 26. What is the theme of the 'World Heritage Day 2022"? 0 points
Mark only one oval.

) Heritage and Climate

/:_i Heritage and Covid
" Preserve Heritage

() Teaching children about Heritage



27.

28.

29.

27. India recently signed MoUs on Nuclear Energy Partnership and Global

0 points
Innovation Partnership, with which country?

Mark only one oval.

G
{___J Germany
UK

J

28. The book titled 'Adventures of a Daredevil Democrat’, which was recently 0 points
published, narrates the story of which Former Chief-Minister?

Mark only one oval.

{__J) M Karunanidhi

=

/

: Jyoti Basu

:,‘ C Achutan Menon

29. Who has the largest tenure of over as head of elected government in

0 points
India (Including chief Minister as well as Prime Minister)

Mark only one oval.

(___J Narendra Modi
C”_: Manmohan Singh
(___} PV Narasimha Rao

‘r: Indiara Gandhi



30. 30. What was the rank of Bengaluru in the "JLL City Momentum: The World's ¢ points

Top 20 Most Dynamic cities Report, 2019"?

Mark only one oval.

) First
) second
__ ) Third
_" ) Fourth

31. 31. Who said this statement learning is the acquisition of habits, knowledge
and attitutes.

Mark only one oval.

" Murphy
2  Norman L Munn
i‘ Crow and Crow

‘___/ Skinner

32.  32. Who propounded the theory of classical conditioning learning?
Mark only one oval.

(___) BF Skinner
) Kohler
\_\ | P Pavlov

) J B Watson

1 point

1 point



33. 33. The two factor theory of intellegence was propounded by ___ 1 point

Mark only one oval.

C_D L L Thurston
) Guilford
T

{___J Spearman

\___/ Victoria

34. 34. Which one fo the following is a Projective technique 1 point

Mark only one oval.

") Observation
) Inkblock test
() Evaluation

{—.\

(___/ Interview

35. 35. The term reinforcement was coined by
Mark only one oval.

C: Skinner
{__) Pavlov

{___ Murphy

C Vygotsky

1 point
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